[ number of missing inner layers |

10

Rat

1e Entries 2133
F : : Mean 0.4032
r N : Std Dev 0.7308
L[ N S S
107 N TS 2136
F : : Mean 0.4036
L H . |.Std Dev 0.7267
-2 : teeiitoiiitoiiii..
10 E : i [Entries 2131
F ' ' Mean 0.4003
B - . |Std Dev 0.7209
10*3=— - I R R T
o : : Entries 2141
r . . Mean 0.4045
N . |.Std Dev 277
-4 L . . =
107k R o
10—52_ .................. e ‘...
168

TTTT

0.95

o

I

SPrrrr

1 2 3 45 6 7 8 9 10

[ number of missing outer layers |

1072

1073

fee

10

Entries 2133

+ | Mean 1.243

. Std Dev 2111
""" : " TEntries 2136
: Mean 1.25

H Std Dev 2.112

i [Entries 2131

+ | Mean 1.233

. |Std Dev 2.093
------ I RS R EEEEEEEEE |
E Entries 2141

. Mean 1.238

H Std Dev 2.105

e P

=
TTTT[TTTIrrrT

OC 0

=== DQM_mKFIT_TToriginar
mkFit_ TTNEW

—— DOM -
| e DOM_mkFit TTNEW50
mean hif = DOM mkFit _TTNEW100

<hits> vs n

Ratio

20

I
[ee]
|

16f--
14
12f--
10

w)|

1 2 3
track n

[ N of simulated tracks vs pT |

10

Rati

Entries 20014

—1} | Mean 0.8217

lo E Std Dev 1.867

E : I

- Entries 20014

2l | Mean 0.8217

lo E Std Dev 1.867

E : I

[ £ Entries 20014

Y R " T Mean 0.8217

10 °E : Std Dev 1.867

r Entries 20014

_4 N Mean 0.8217

107% Pt R Std Dev 1.867
10-5 aRREREEEEED P . ........................

10%6— PR T BT A

0.95

-
TT I T T

10?

10

N
T

| Entries 2133
| Mean 6.554
- Std Dev 3.454

. e 1

Entries

Ratio

d'.)

25 30 35 40
track hits

1072 R
T I S
L froeeeees

10°°

Entries 80461
Mean 2.394
Std Dev 23.94
"""""""" ]
Entries 80372
Mean 2.323

Entries
. Mean
PR Std Dev

Std Dev 22.54

Entries
Mean

1055}

10

Rat|

1l - -ap-
0.95 H G 00 R
9 :




	Contents
	Page 1


